EDH

E i im F(Printed Board Terminal)

PB-T10A01 T 4-R1 gl_ﬁ ﬁ?M%IZ‘ ting Hol &/ Part No ik e 2 /Screw
P ize of Mounting Hole
E 10A 3 Ejé . HARE:11.6~2.0 PB-T10A01 ’j"/;o e
i I U - Printed Board:t1.6~2.0 ; ) M3.5X6LT7 1) —42 > E R4S
Ratmg g— § . ] g9 PB-T10A01-S M3.5X6L Screw Attached
- ‘ 9,‘81 i 57 | a 1282 =000 1.2192
. “ o 65
L% 5 B S i i
: L] -
: 3 {£ #%/Specifications
\ i BnE &7 WHE 3% =
Part No Part Name Material Size Treatment
8.9.9, Printed Board Terminal| Brass - ) Tin-Plated
01 [ =8 % B 2
2200 2 Screw Steel | M3-5X0.6X6L Nickel-plated
PB-T15A01 8.3 11.5 gll_ﬁ/*\f%M%lilt, Hol =% /Part No KEBE Z /Screw
= $:15A Bip .t am2 00 e PB-T15A01 %L /NO
i ~ Printed Board:t1.4~2.0 ; B M3X6L/NA > FER BT
Ratmg = 7.5 PB-T15A01-S M3X6L Binding Head Screw Attached
3 = é—_ 4-029 'R
-~ 5 | 9
> @
- £ 4/ Specifications
nE &R HH T Lz
Part No Part Name Material Size Treatment
R m T # 4 = - AZX Ay F
! Printed Board Terminal| Brass RZ t=0.8 Tin-Plated
KRR E R 5 YT NAYF
2 Screw Brass M3X0.5x6L Nickel-plated
PB-T15A02 gi'{#ﬁ?M%Et' Hol &/ Part No Mt E 2 /Screw
ize of Mounting Hole
E 1:15A . HIRE: 1.4~2.0 PB-T15A02 &;/Nho an
i ~ Printed Board:t1.4~2.0 } B M3X6L/INA >~ FE R4
Ratmg PB-T15A02-S M3X6L Binding Head Screw Attached

1‘4’! 4-01.8%

e
b—b

{1t #%/ Specifications

& BR ma ~TiE L3R
Part No Part Name Material Size Treatment
HiRET # 5 = XA Ry F
" |Printed Board Terminal| Brass | /% 208 |  Tin.piated
i A ¥l B Y 2k
2 Screw Brass M3X0.5X6L Nickel-plated
PB-T15A03 — gl_ﬁﬂ?M%Et_ Hol &/ PartNo FEMLE X /Screw
***** ize of Mounting Hole
E 1%:15A i} H i 158 t1.4-2.0 PB-T15A03 @;/Nbot -
. i ~© Printed Board:t1.4~2.0 i } M3X6L/NA > FERAS
Ratmg " ” 7 4ol 85025 PB-T15A03-S M3X6L Binding Head Screw Attached
e e T e fflo g
A P - — ,@fj
5
—0 ©-—-6
. ! {t#%/ Specifications
\4 \ a 0E &R HE T3 wE
] _ Part No Part Name Material Size Treatment
| b i iR T B | im0 | PAAVE
2-15 Printed Board Terminal| Brass - : Tin-Plated
4.5 3= # R BNV 20
2 §crew Brass M3X0.5X6L Nickel-plated

X7 VA, RN » b2 THNTO—-HAERE ST X TY

TI-EFHALH



EDNK

E i i% F(Printed Board Terminal)

PB-T15A04
E  HE15A
Rating

-~

-

T\

Bt RsER"

Size of Mounting Hole
EWE:t1.4~2.0
Printed Board:t1.4~2.0

—L2 4-01.8%97R

16—

bl

&/ Part No Mi#E 2 /Screw
PB-T15A04 2L /NO
PB-T15A04-S M3X6L/\A > K ERA ST

M3X6L Binding Head Screw Attached

£ 4%/ Specifications

L E B LN ~TiE bl
i | Part No Part Name Material Size Treatment
! R F # § = (= AZRX v F
‘ s ! Printed Board Terminal| Brass RZ t=0.8 Tin-Plated
7.5 . ff e 2 # 4 VLAY F
2 Screw Brass M3X0.5x6L Nickel-plated
PB-T15A05 ‘ gﬂ#ﬁ?j@lﬁltl Hol 2%/Part No W e A /Screw
= ize of Mounting Hole
E  #&15A ; B IR 11.4~2.0 PB-T15A05 ’*; /Nhot‘ i
: [ L Printed Board:t1.4~2.0 R i M3X6L/NA > FER AT
Ratmg " 7.5 4—p1EOZR PB-T15A05-S M3X6L Binding Head Screw Attached
7 —P1.06
}
o 35 $ T
s 8 O | 0
1
P &-—-p-
ﬂ{%** {1 4%/ Specifications
© m & AR ma ~TiE S
Part No Part Name Material Size Treatment
it 5 1 Printed Board Terminal| Brass Tin-Plated
‘ — i e A ¥ v AAvF
° 2 gcrew Brass M3X0.5X6L Nickel-plated
PB-T15A06 gﬂ_ﬁﬁf%“M%lth. Hol &% /Part No L E 2 /Screw
= #2:15A = Rt omp 00 ¢ PB-TI5A06A  (M3f) AL /NO
Rating H Printed Board:t1.6~2.0 PB-T15A06B  (M4A) %L /NO
B 7.5 M3X0.5X6L/\A > FE R4t
‘ 4-921§'R PB-T15A06A-S 13%0 561 Binding Head Screw Attached
— e D-— PBT15A06B.S M4X0.7X6L/\A > K E R
0 M4X0.7X6L Binding Head Screw Attached
‘ @
1 @,7,
{L 4%/ Specifications
v l} v - “ BE &R HE 3% wnE
Part No Part Name Material Size Treatment
‘ H iR F L = (= ZZ Xy F
oS i ! Printed Board Terminal| Brass #E t=0.8 Tin-Plated
& u 2 M E A ) =y NAYF
Screw Brass Nickel-plated
PB-T15A07 8 g‘?ﬁ/ﬁ\?’f@t, Hol %%/ Part No K4 E 2 /Screw
| ize of Mounting Hole
E H15A EARE:11.4~2.0 PB-T15A07 BLINO
i Printed Board:t1.4~2.0 K _ M3X6L/NA > FE RS
Ratmg 7.2 4—o1 B PB-T15A07-S M3X6L Binding Head Screw Attached
T — 2O\
= $A
§ {t #%/ Specifications
E B mE Tk gz
Part No Part Name Material Size Treatment
i F # 4 = = ARy F
- ! Printed Board Terminal| Brass RZ t=0.8 Tin-Plated
] Bl E R ¥ ZYHTNAYF
2 gcrew Brass M3X0.5x6L Nickel-plated

XFL A, WG, 5 A THATO —HERE R TT

ECHO ELECTRIC CO.,LTD.



EDH

E i im F(Printed Board Terminal)

PB-T15A08
E H15A
Rating

7.8

(30)

B RS ER

Size of Mounting Hole
HIRE:11.6~2.0
Printed Board:t1.6~2.0

L2 4o91.8%

et
b

&/ Part No 448 © »/Screw
PB-T15A08 % L/NO
PB.T15A08.S M3X6L/AA > FE R

M3X6L Binding Head Screw Attached

{£ 4%/ Specifications

mE AR e ik L T2
Part No Part Name Material Size Treatment
EH i F EED = (= FAA T X
t Py ! Printed Board Terminal| Brass RIZ t=0.8 Tin-Plated
- g v 2 45 =V LA 7%
2 ElScrew Brass M3X0.5X6L Nickel-plated
PB-T15A09 = = EXHTC?M%{ Hol %/ Part No gag ¢ ~/Screw
ize of Mounting Hole
E 1&:15A o B o AR t1.4~2.0 PB-T15A09 *;/NFO e
i N TN Printed Board:t1.4~2.0 R ) M3X6L/NA > K E R
Ratmg ? 7 4_p1.8025% PB-T15A09-S M3X6L Binding Head Screw Attached
L | LR ===== — RelimiN
LIS

EECl

b

G
‘ % -~ {£ 4%/ Specifications
v BN nE &R L +& [TE=]
‘ Part No Part Name Material Size Treatment
s HE iR T =4 — AR %
‘ pEn ! Printed Board Terminal| Brass RE t=0.8 Tin-Plated
- fEag e 2 ¥ ESE2T S
- 2 Screw Brass | M3X0.5X6L Nickel-plated
PB-T15A10 BARSER =& /Part No 4E4R ¢ 2 /Screw
- _ _ Size of Mounting Hole PB-T15A10 % L/NO
E 1g:15A T/ HiRE:t1.6~2.0 - N
i Printed Board:t1.6~2.0 R _ M3X6L/NA >~ FE R4
Rating H 25 PB-TISAT0-S  y13x6L Binding Head Screw Attached
' @\‘—‘ 4027 'R
] -
) [IER | o
w m— ©) o-—-
Jé {L %/ Specifications
re o © EES &R W& ~F % i
Part No Part Name Material Size Treatment
[ i F # i 5 (= AAAT X
o Lsl ' |Printed Board Terminal| _Brass | ™% 708 |  Tin_plated
‘ R e 7 # 5F =V sV X 7 %
“ 2 nScrew Brass M3X0.5X6L Nickel-plated
PB-T15A11 7.8 gl'ﬁﬁf%M%t' Hol &/ Part No 448 € 2 /Screw
- ize of Mounting Hole
E A815A XIS 116 PB-T15A11 EL/NO
Rating Printed Board:t1.6 PB-T15A11-S M3X6L/\1 > FEZ 41T

/.8

3.4
(6.4)

2—1.5

1‘#’7 4-901. 8/\

ja
$=d

M3X6L Binding Head Screw Attached

{L #%/ Specifications

HE B wE <Pk g
Part No Part Name Material Size Treatment
F R i F EED = = FRAT X
! Printed Board Terminal| Brass RE t=0.8 Tin-Plated
R e 7 # 48 =V 5 LA %
2 ElScrew Brass M3X0.5x6L Nickel-plated

—HAEESHTXTYT

-

—E RS+



EDH

B iR i F(Printed Board Terminal)

TS #K 2%/ Part No filif & /Screw
PB-T20A01 RiARSEE i
. g;g};f t';ﬂtzuglgg Hole PB-T20A01A  (M3M) %L /NO
. = 4a~c.
£ _*%'ZOA - Printed Board: t1.4~2.0 PB-T20A01B  (M3.5/) =L /NO
Rating 2 i o PB-T20A01C  (M4A) &L /NO
) 0215 R M3X0.5X6L/N1 >~ FE R4 fF
; 9 o PB-T20A01A-S 1350 5x6L Binding Head Screw Attached
TNy \ n ‘ ‘Lo’ NIy
- 4 PB-T20A01B-S M3.5X0.6X6L/\A >~ FE R4 1+
= @ ’’’’’ @* M3.5X0.6X6L Binding Head Screw Attached
2 M4X0.7X6L/\A > FE R4
43 - - S
\ ¥ 1Sp¢e¥cifications PB-T20A01C-S M4X0.7X6L Binding Head Screw Attached
}f HE &R HE T3 W
Part No Part Name Material Size Treatment
R im T EX0] = i= AZ Ay F
! Printed Board Terminal| Brass RZ t=0.8 Tin-Plated
2 FERLE R %0l T AAYF
Screw Brass Nickel-plated
o+ o 5 5 =1 I N
PB-T20A02 ‘ BAREER & &/Part No fhf e 2 /Screw
. Size of Mounting Hole PB-T20A0
- i h o 2mmt1.4-20 2 (M3B) “L/NO
. = . A~z
E M20A |1 0 | A .| Printed Board t1.4~2.0  PB-T20A02B  (M3.5M) %L /NO
Rating = © y iop s PBT20R02C  (M4F) #L/NO
i 0 T f 1 —02.1*3 7% ‘A~ R 24
| ! . @ ,,,,, PB-T20A02A-S M3X0.5X6L/\A > N E MM
w 18 6.5 = o M3X0.5X6L Binding Head Screw Attached
< 4 \ | g PB-T20A02B-S M3.5X0.6X6L/\1 > FEX 41T
ﬁ/ﬁ) @—-—- @ M3.5X0.6X6L Binding Head Screw Attached
N E ) M4X0.7X6L/NA > R E R4
—@ {Sip*fcifications PB-T20A02C-S M4X0.7X6L Binding Head Screw Attached
! B AR e Pk =]
\ 1 Part No Part Name Material Size Treatment
L os R F # iR = 1= ARRA Y F
11 ! Printed Board Terminal| Brass RE t=0.8 Tin-Plated
12.8 2 R E R # i =y TN AyF
Screw Brass Nickel-plated
PB-T20A03 gZﬁ/*\f%M% e Hol &%/ Part No R E 2/ Screw
ize of Mounting Hole
E #:20A AR F:11.4~2.0 PB-T20A03 Tren ?»rL/NFol:“z%ﬁﬁ
i o 0 Printed Board:t1.4~2.0 R _ AC #1s
Ratmg o © 11 PB-T20A03-S M4X6L Binding Head Screw Attached
é——' 4-9211¢'R
’7T7’€B’ 94.5t0°7%
-y oo 3 f n ‘-
- 4 “{ N
. &0
= T
= f£ 4%/ Specifications
HE AR & STk LR
Part No Part Name Material Size Treatment
E R F # 4 = {= ARA ¥
! Printed Board Terminal| Brass RIZ t=0.8 Tin-Plated
R E R # 5 v A AYF
2 Screw Brass M4X0.7X6L Nickel-plated
PB-T20A04 = — BARSER 5 %&/Part No e 2 /Screw
. — Size of Mounting Hole PB-T20A04 %=L /NO
E 1%:20A IR 11.4~2.0 - f{b\ ST
Ratin S| oo Printed Board:t1.4~2.0 R B M4X6L/NA > A AL
ating ﬁ -2 g s mamDT2ORO%S  yi4x6L Binding Head Screw Attached
il — —01.8Z5“7%
6‘977T77 7 o4 5P0R
& - b=
& ——&
= /4% + ¥/ Specifications
NG 0E B WE Tk L=
: - Part No Part Name Material Size Treatment
5 E R 5% F ¥ = i= AR v F
‘ 215 ! Printed Board Terminal| Brass RIZ t=0.8 Tin-Plated
7.5 i E % # 4 YAy F
2 Screw Brass M4X0.7X6L Nickel-plated

X7 VA, BEEM» b THENTO—BAELTATY

ECHO ELECTRIC CO.,LTD.



EDNK

E i F(Printed Board Terminal)

PB-T20A05 §1¢R?M%@ ting Hol m#E/Part No HEf e 2 /Screw
== \ — ize of Mounting Hole
E  1%:20A HIRE:11.4~2.0 PB-T20A05 ’@;/NFO -
i s e o Printed Board:t1.4~2.0 R ) M4X6L/NA > FE R4S
Rating = @ 2 B _ PB-T20A05-S  y14x6L Binding Head Screw Attached
12.5 4—¢1.87%
| S N -
h 10 § é) $
) ! 10
Ol
== - —— &
\\ m,,% 0 L 4%/ Specifications
© = WE B W& <tiE Jg=]
‘ Part No Part Name Material Size Treatment
5 I 3T ES e = ZAA 5 F
? 15 ! Printed Board Terminal| Brass RZ t=0.8 Tin-Plated
o e 2 # 4 =y NAyF
2 Screw Brass M4X0.7X6L Nickel-plated
PB-T20A06 _ \ g&;ﬁ/‘ﬁ\f%M%t, Hol &%/ Part No #il £ 2/ Screw
ize of Mounting Hole
E 1%:20A HAR/E 11.4~2.0 PB-T20A06 t:"/Nho i
i - Printed Board:t1.4~2.0 R R M4X6L/INA > K E R4
Ratlng 1 11 PB-T20A06-S M4X6L Binding Head Screw Attached
4-927%
r@%
ft#%/Specifications
E B ma ~FiE [igE
Part No Part Name Material Size Treatment
E R F # R = = AZXA Y F
! Printed Board Terminal| Brass RIZ t=0.8 Tin-Plated
R € 2 # 4 v AAYF
2 §crew Brass M4X0.7X6L Nickel-plated
_ BT RNEEK mZ&E/Part No WifiE 2 /Screw
PB-T20A07 Size of Mounting Hole PB-T20A07A M3 %
= 12:20A HIRE: t1.4~2.0 (M37) sL /NO
aLE Printed Board:t1.4~2.0 ~ PB-T20A07B _ (M3.5ff) &L /NO
Ratlng o 11 N PB-T20A07C (M4F) L /NO
D — T oBT20A0TAS M3X0.5X6L/NA ¥ K& R 41t
N m{ i i M3X0.5X6L Binding Head Screw Attached
- “ : B M3.5X0.6X6L/\A > FE R 41t
- GP fffff q% PB-T20A07B-S 13 5x0.6X6L Binding Head Screw Attached
i . M4X0.7X6L/NA > FER AT
gip*fcifications PB-T20A07C-S M4X0.7X6L Binding Head Screw Attached
HE AR wE Tk g
Part No Part Name Material Size Treatment
E i F EED s (= AZ XY X
1;8 ! Printed Board Terminal| Brass RIZ t=0.8 Tin-Plated
' ) 2 X oAy E
Screw Brass Nickel-plated
PB-T20A08 4.3 gzﬁﬁf%M%lEr Hol %/ Part No HHi e 2 /Screw
ize of Mounting Hole
E  #%:20A i —— HIRE:11.4~2.0 PB-T20A08 *;WNFO o
i J | N Printed Board:t1.4~2.0 } ) M4X6L/INA > K E R4S
Ratmg ™ N 8.7 PB-T20A08-S M4X6L Binding Head Screw Attached
[ I | e 4—01.81
5 oo - 0451857
1 b 8.2 T 0| — —
y == ~ L~y
1
‘ fL #/ Specifications
\ A 2 BE &R W& ~F & wiE
—— Part No Part Name Material Size Treatment
EHiRim T # 4 = = AARX Y F
LL'\ ! Printed Board Terminal| Brass RZ t=0.8 Tin-Plated
10.2 g E R 5 8 B
2 §crew Brass M4X0.7X6L Nickel-plated

X7 LA, RE SRR D A TN TO A TT

TIA—FE A4t



EDNK

E i i% F(Printed Board Terminal)

PB-T20A09 ESP gy,ﬁ/ﬁ\?’\f@t, Hol mZ&E/PartNo fEfE 2 /Screw
o ize of Mounting Hole
E 1%:20A Q%} HiRE t1.4~2.0 PB-T20A09 MSXSL”{: /NFF)E‘Zkﬁﬁ
i [ Printed Board:t1.4~2.0 K _ A #A 1
Rating L2a] ~ 5 B . PB-T20A09-S  \13x6L Binding Head Screw Attached
_ 1__,7 4—p1.87%
& lE =
> = ]
\ % e
8 £ 4/ Specifications
| BE B HE I% wE
- } Part No Part Name Material Size Treatment
‘ = _ i F # 4 = = AARX Y F
S Yzt o ! Printed Board Terminal| Brass | /¢ t=0-8 Tin-Plated
5 HEHE R 4 LAY F
- 2 Screw Brass M3X0.5X6L Nickel-plated
PB-T20A10 | gXH/*\f’?‘M%Et, fol &%/ Part No #ifitE 2 /Screw
ize of Mounting Hole
£ 18:20A HEIRE:t1.6~2.0 PB-T20A10 — 5X6L?§:“:/Ngt“xﬁﬂﬁ
i ) Printed Board:t1.6~2.0 K _ . AN FERR
Ratmg h 19 40218 PB-T20A10-S M3.5X6L Binding Head Screw Attached
/
¢4+05

e

- 1 -

1i$,1</SpeC|f|cat|ons

& BR wE <7k L3z
Part No Part Name Material Size Treatment
E AR F # §H s i= ARXAYF
" |Printed Board Terminal| Brass | ™% t=0.8 Tin-Plated
g 7= % Zu T AAYF
2 Screw Brass M3.5X0.6X6L Nickel-plated
PB-T20A11 gy'ﬁﬁfé}M%Et' Hol &/ Part No MEME R /Screw
ize of Mounting Hole
E  H%:20A HIRE:11.6~2.0 PB-T20A11 ’?‘:{ /Nbot i
i Printed Board:t1.6~2.0 i : M4X6L/NA > FERAF
Ratmg 11 PB-T20A11-S M4X6L Binding Head Screw Attached
@,i,ij%ew
p 3{ | |
= P9
X {L#/ Specifications
¢ 8 8 BE A7 WE ~F & e
Part No Part Name Material Size Treatment
1 E*’iﬁﬁ¥ %ﬁﬁ WE t=0.8 ARXRA Y F
Printed Board Terminal| Brass - ) Tin-Plated
i & A # R ZYTNAYF
2 Screw Brass M4X0.7X6L Nickel-plated
PB-T20A12 gy,ﬁ/ﬁ\?’\f@t, Hol m &/ Part No KEHRE R /Screw
ize of Mounting Hole
E  1%:20A HiRE 11.4~2.0 PB-T20A12 ’2: /N|~O i
i Printed Board:t1.4~2.0 ) : M4X6L/INA >~ FE R4S
Ratmg 175 PB-T20A12-S M4X6L Binding Head Screw Attached

[ -
A
JO

{L #%/ Specifications
E B L ~TiE gz
Part No Part Name Material Size Treatment
AR % F # 4 = = AZ Ay F
q |3 10 ! Printed Board Terminal| Brass RZ t=0.8 Tin-Plated
l i & A 5 5R YA RAYF
h 2 Screw Brass M4X0.7x6L Nickel-plated

X7 LA, LS

B 5

A THHNTD

—H AP XTY

ECHO ELECTRIC CO.,LTD.



EDH

E R imF(Printed Board Terminal)

PB-T20A13 Wo‘i 2-08 g“’f R?M%E ting Hol &/ Part No #ift € R /Screw
M f ize of Mounting Hole
E 1&:20A P HIRE:t1.4~2.0 PB-T20A13 t’il’ /NP‘
Rating | O Printed Board:t1.4~2.0  bp To0A13.S MAX6LINA > R E R
m ® 1 497 M4X6L Binding Head Screw Attached
b‘ E;; @ 77777 "
i 11.8 14 ‘ ‘ 0
I ‘“j ©|
— B & —— 0
} U = B {1 1%/ Specifications
\ \ WE AR e ~iE L3R
v l | -
| ‘ | w jL Part No Part Name Material Size Treatment
UE E AT #4 = 1= AXA %
11215 ‘ [ s ! Printed Board Terminal| Brass RZ t=0.8 Tin-Plated
- 55,65 Rl E R =45 ST ARy F
2 Screw Brass M4X0.7X6L Nickel-plated
PB-T20A14 | g’l_ﬁﬁf‘%\ft, Hol fmZ&E/PartNo i E 2 /Screw
ize of Mounting Hole
E 15:20A ] o EiRE: t1.4~2.0 PB-T20A14 ’?: /NI~O|: i
i Printed Board:t1.4~2.0 } } M3X6L/NA >~ FE R4
Ratmg 7.8 8+o 2t PB-T20A14-S M3X6L Binding Head Screw Attached
N e qafﬁﬁ
oL gt
24 | &
, 1ﬂ§/Specifications
° g\ 203 HE &R HE T3 Tk
‘ R Part No Part Name Material Size Treatment
il i i EH R F # 4 = = AZXRX Y F
U ! i s ! ! ! Printed Board Terminal| Brass iRIZ t=0.8 Tin-Plated
-~ e I 2 AR E R ¥l Sy A AYE
> 2 gcrew Brass M3X0.5X6L Nickel-plated
PB-T20A15 gy'ﬁﬁf%M%lEt' Hol & %/PartNo HigE 2 /Screw
ize of Mounting Hole
E  1%:20A HAiRE:t1.4~2.0 PB-T20A15 ’?: /N|~O i
i Printed Board:t1.4~2.0 ) . M4X6L/INA >~ FE R4
Ratmg 8 4 g1 8925 PB-T20A15-S M4X6L Binding Head Screw Attached
b R VAN
@,7,
) J
ol o {1 4%/ Specifications
B BFR e ~TE bl
. Part No Part Name Material Size Treatment
a %= : iR T B | jpm 0.8 | XXAVE
4 13 ¥ Printed Board Terminal| Brass S Tin-Plated
FhEREE R %0 ST AYFR
2 Screw Brass M4X0.7X6L Nickel-plated
PB-T20A16 glﬁﬁfé}M%E ting Hol &/ Part No Wik EZ /Screw
ize of Mounting Hole
E  H&:20A . HIRE:11.4~2.0 PB-T20A16 ”{: /Nbot e
i N Printed Board:t1.4~2.0 R N M4X6L/INA > R E R 4fr
Ratmg o 11 4-poR PB-T20A16-S M4X6L Binding Head Screw Attached
é——' /\
<
\E ég |

{L #%/ Specifications

& Eg L Tk gz
Part No Part Name Material Size Treatment
E R % F 4 s (= ARXA Y F
! Printed Board Terminal| Brass HZ t=0.8 Tin-Plated
R E R H R —YT AV F
2 gcrew Brass M4X0.7X6L Nickel-plated

X7 VR, lAEEER»

ETHANT

D—

HAEPETTY

TIO—EFH%RE



EDH

E R imF(Printed Board Terminal)

PB-T20A17 Bt RSER
Size of Mounting Hole
E  1%:20A EAR/E:11.4~2.0
Rating Printed Board:t1.4~2.0
o 10.5 4—@27%
2 & ——£
‘ O
N ©
ft#/ Specifications
& B wE Pk 038
Part No Part Name Material Size Treatment
AR i T 4 S (=
! Printed Board Terminal| Brass RE t=0.8 Tin-Plated
PB-T20A18 1.65 EZH/*\?M% o Hol % /Part No A E 2 /Screw
= #2:20A [ 2.35 0 ize of Mounting Hole PB-T20A18 %=L /NO
= . S — - HEIRE:t1.6 - =
Rating TN . \ Printed Board: t1.6 PB.T20A18-S M3X6L/AA > K ERAf
©| O ) 3.8 L8] R M3X6L Binding Head Screw Attached
o = R | — © - . - —91.97%
= I
[ S | — @ ]
L8 | 5 ‘ 40 é} "5
I = : B
- | opr .
‘ o {£ 4%/ Specifications
\ 0 BE BT WE T wE
; [ Part No Part Name Material Size Treatment
i ‘ [ 1 %*&iﬁ%% ﬁ&lﬁ ﬂiJE t=0.8 X?C)“Y*'
| . 0.8 Printed Board Terminal| Brass - | Tin-Plated
8.8 iR E R # 4 YIS E
2 %crew Brass M3X0.5X6L Nickel-plated
PB-T20A19 5.8 gXﬁiﬁ\f%“M%t. ol % /Part No #EHE R /Screw
— 4R ize of Mounting Hole
£ 1%:20A e RHE: 1.6 PB-T20A19 2L ’;No .
i [ I Printed Board:t1.6 } : M3X6LT7 U —42 > E R4
Rating M g0 PB-T20A19-S M3X6L Screw Attached
1.0%92 =005 1.0%92
I
) 23.5R% N
4
1 £ #/ Specifications
HE B wE ~F ik 0L 38
- Part No Part Name Material Size Treatment
%2 AR i F # iR B (= ARXRA Y F
898, |= ! Printed Board Terminal| Brass RF =08 Tin-Plated
9.284s Shg e 2 S I NAYF
2 Screw Steel M3X0.5X6L Nickel-plated
PB-T40A01 10 3 glﬁfi?M%t_ Hol &%/ Part No i e 2 /Screw
ize of Mounting Hole
E 1%:40A 2-C0.5 #RE:t1.6~2.0 PB-T40A01 ?;/Nbot e
i Printed Board:t1.6~2.0 ; : M5X8L/NA > FE R4S
Rating I 10102 PB-T40A0T-S  \i5x8L Binding Head Screw Attached
)
1 - o 1.5
1 6t8‘1 7}777777 o
<

{£ 4%/ Specifications

HE Eg wE Pk gz
Part No Part Name Material Size Treatment
AR im T B¢ = = ARRA Y ¥
! Printed Board Terminal| Brass W t=1.2 Tin-Plated
e 2 # 5 —ZyFARAYF
2 Screw Brass M5X0.8X8L Nickel-plated

XT VA, BHBEE» G ETHNTO—HAEETATY

ECHO ELECTRIC CO.,LTD.



EDH

E R 3% F(Printed Board Terminal)

PB-T40A02

glﬁ/"?f%M%t_ Hol 2 %&/Part No K € % /Screw
9.7 10 ize of Mounting Hole
E 1%:40A : 02 AMIES0AWT)  FATE: t1.4~2.0 PB-T40A02 e ffr” N&\ﬂﬂﬁ
i - Printed Board:t1.4~2.0 R R NV F AR
Rating 10402 PB-T40A02-S  \14x6L Binding Head Screw Attached
-0
X 15
L o
T 717 <
ft #/ Specifications
HE &R wEa Pk iz
Part No Part Name Material Size Treatment
iR i T ST = = AXRA v F
! Printed Board Terminal| Brass RE t=1.2 Tin-Plated
=0 # iR YT AAYF
2 §crew Brass M4X0.7X6L Nickel-plated
PB-T40A03 EZNTC?M%Y Hol %/ Part No R E 2 /Screw
ize of Mounting Hole
E 1%:40A HHE:11.6~2.0 PB-T40A03 ?'fL/NFOl:‘Zﬁﬂﬁ
i Printed Board:t1.6~2.0 } ; M4X6L/NA > FE RS
Ratmg 10r0:2 PB-T40A03-S M4X6L Binding Head Screw Attached
-0
.15
N
T 17 <
{£ #%/ Specifications
HE AR wE ~PiE gz
‘ Part No Part Name Material Size Treatment
Ll 0.2 AR i T E¥ = (= AXA v F
‘ L] ! Printed Board Terminal| Brass RE t=1.2 Tin-Plated
i =S = 4§ v AAYF
2 gcrew Brass M4X0.7X6L Nickel-plated
PB-T40A04 BiFRE&%£K &/ Part No KEMRE R /Screw
— . Size of Mounting Hole K %
= 1404 SRl t1.4-2.0 S Msxsu\:’b‘ﬁNFol:“Xﬁﬂﬁ
i Printed Board:t1.4~2.0 R - Ry
Ratmg 10 PB-T40A04-S M5X8L Binding Head Screw Attached
- v ==
|
I
0]
So " ft 4%/ Specifications
w G| HE &R HE +3% gz
e - ‘ Part No Part Name Material Size Treatment
ER i F EX0) = (= AZXAYF
0.3 Zfzkd\ s ! Printed Board Terminal| Brass R t=1.2 Tin-Plated
1256 0 ; 4-C0.3 ) fhE 2 #HI | \sx0.8xsL| —YIMAYE
Screw Brass ) Nickel-plated
PB-T50A01 glﬁ/"if%}M% ina Hol M6 R (% ) A B, A5 4R € X &4 bV 2:2.5~5.0N + m
i M6 @7 4-C0.5 Ize of Mounting Hole Screw size:M6,Clamping Torque For Connection
E 1%:50A - I -  — ERE:11.4~2.0 Screw:2.5~5.0N + m
Rating il — Printed Board: t1.4~2.0
2 H— — H— H»f——m i 16.4 4-02.53 1%
{3 H=l o—4
REEN ETNIN | |~
17.6 :‘ (l‘ % I @
P S I S . .
J‘r T, tJ 1i%§/3pemf|cat|ons
‘ ‘ ‘ HE B LN ~TiE gz
! Part No Part Name Material Size Treatment
- r— . ET Tk B | jpm 10| AXAVE
JE 164 Jt Printed Board Terminal| Brass - ) Tin-Plated
2 WFv b £ RE t=3.0 =R
Nut Brass - : Nickel-plated

XTL R, ENZEM» L 2THNTO —-E4E LA TY

TI-EFHtLH




EDH

H iR imF(Printed Board Terminal)

PB-T50A02 s RARSER M5 & R (3 §) 155 A %, G 48 R £+ 1)L 97:2.0~5.0N + m
- . T Size of Mounting Hole Screw size:M5,Clamping Torque For Connection
E 1%:50A b’—tr—f—‘:“f HEIRE:11.4~2.0 Screw:2.0~5.0N * m
Rating o ! |M5 Printed Board:t1.4~2.0
N jﬁ@w . 14.8 4-82.558'%
| @ H-—- %’
—+—+—FLH\ 1 ] ]
= I | =
o 16 14.2 w w
& 4-C0.5 & ®
- {1 4%/ Specifications
— R BE R ME 3% Iz
s N S Part No Part Name Material Size Treatment
) i F B¢ = = AZRX Y F
S . © ! Printed Board Terminal| Brass RE t=1.2 Tin-Plated
4 12 HF >k EE = (= =y EAA Y
2 Nut Brass RIZ t=3.0 Nickel-plated
PB-T50A03 g&zﬁ/*\f%m% ol M5 & (85 46 155 i B, 68 42 8 R & b IV 27:2.0~5.0N - m
ize of Mounting Hole Screw size:M5,Clamping Torque For Connection
E 18:50A M5 26 4-c05 EMRE:1.4~2.0 Screw:2.0~5.0N - m
Rating m \ M T — Printed Board:t1.4~2.0
- [l 16.4 4-02.518"R
- - —H ——‘——r\
B - 4 Q’** P o6k
| ‘ il Iy +7 T
— 8.8 1 ) )
~ Les st Y- --@
‘ L‘ o N 4%/ Specifications
R S E— —
i i WE &R HH +3% w3
‘ ‘ ‘ Part No Part Name Material Size Treatment
é —@ 1 AR i F # 4 RE t=1.2 ARy F
‘ Printed Board Terminal| Brass - ) Tin-Plated
16.4 BF > b 5 = o YT AAYF
2 Nut Brass RIZ t=3.0 Nickel-plated
PB-T60A01 B RSER & %&/Part No f#E R /Screw
%;E,gf t':"%“"““g Hole  pp_TgoA01 %L /NO
Z:t1. RIS
Printed Board:t1.6 PB-T60A01-S M5X8L/NA > FER 1Y
18402 M5X8L Binding Head Screw Attached
; bSO RS AR E B H60A (2 )
x ¥ R EE 30A
: ——— = Rating:Maxmum Current 60A(2 Cicuits
== == .
One Side Current 30A
{£ 4%/ Specifications
HE B wE ~TiE iz
Part No Part Name Material Size Treatment
1 H AR T E¥ WE t=1.2 ARRA Y X
Printed Board Terminal| Brass - ) Tin-Plated
R E R # iR —v Ay X
2 Screw Brass M5X0.8X8L Nickel-plated
PB-T60A02 14.4 . it RS %R %% /Part No §#E 2 /Screw
0| Size of Mounting Hole
= 1:60A E g P M6X10L/\‘»ffj(r:“é"\lxom6ﬂ' J R
i 5 Printed Board:t1.6 _ R Y AT
Ratmg 13 PB-T60A02-S M6X10L Binding Head Screw,M6 Nut Attached
= ===
=] | | 4
ﬂ | 5.0182 ‘ = D
x?‘ == {£ 4%/ Specifications
o~

o R

4-C0.5

RO
:OZ

13.218°

E B a1 Tk S
Part No Part Name Material Size Treatment
EiRim T 4R = = AX Ay F
! Printed Board Terminal| Brass RE t=1.2 Tin-Plated
e 2 # 4 ZYTARAYF
2 %crew Brass MBX1X10L Nickel-plated
3 AfiF b % M6 suA—hRyE
Hexagon Nut Steel Chromate-plated

X7 LR,

BT 4 s

LaETHNTO—-HAERETXTY

ECHO ELECTRIC CO.,LTD.



EDHA

F(Printed Board Terminal)

PB-T60A03 4 P g}%gt\)f;’}M%oting Hole & %&/Part No M E 2 /Screw
= H60A ! = Prinied Boe o M5X12L7 '?LQYNO“ x4t
i | o Printed Board:t1.6 R _ -2 #B 1
Ratmg " L 2+02 PB-T60A03-S M5X12L Screw Attached
A =
1.658" L ﬂ }
1.5 | J
{1 4%/ Specifications
& BR ME ~ ik fg=
Part No Part Name Material Size Treatment
1 HAR i F # 5 WE t=1.2 ARRXyF
Printed Board Terminal| Brass - : Tin-Plated
B E R % ZYTNAYF
2 Screw Steel M5X0.8X12L Nickel-plated
PB-T100A01 R RS EE %%/ Part No /Screw
Size of Mounting Hole
& #1004 e v M6X10LI\‘4{/NI?|:“7\*H1T
i Printed Board:t1.6 - - ag T
Ratmg PB-T100A01-S M6X10L Binding Head Screw Attached
HEBEL 5 460 SR E R R L2 13.0Nm
@E*BE — Clamping Torque For Connection Screw:3.0N *m
i A9 {L #%/ Specifications
)| O
@2.440,1 1 - ': %B% gﬁ-( *#g Tj’;ﬁ ﬂiﬁ
| . Part No Part Name Material Size Treatment
= & - # 4 = 4=
11407 254801 ! Printed Board Terminal| Brass R t=1.2 Tin-Plated
- bk E A 4
2 Screw Brass MEX1X10L Nickel-plated
WF> b 4 = =
s Nut Brass iR t=3.0 Nickel-plated
PB-T100A02 B RE%ER & %/Part No FARE 2 /Screw
Size of Mounting Hole
#1004 = - SRz 11.6 : PoToos M6x10Lft\‘l:r{/ngl:“Zﬁﬂﬁ
i 9 Printed Board:t1.6 R - Ad
Rating ) PB-T100A02-S |15 1oL Binding Head Screw Attached
oy iR E 2 M bV 2 13.0Nem
, : Clamping Torque For Connection Screw:3.0N «+ m
EDES]
o b {t#%/ Specifications
) 2 1 HE & W& ik [z
‘ ‘ Part No Part Name Material Size Treatment
G H 3 == o AR F # 5 S (= AZXA Y F
L M__U L % 75 z-ot ! Printed Board Terminal| Brass W t=1.6 Tin-Plated
H i ' 2 B 2 BHE | vexixioL| 27 AVE
H ‘ H Screw Brass Nickel-plated
= = BF > b # 4 = (= =y Ay F
s Nut Brass RZ t=3.0 Nickel-plated
PB-T100A03 R RSEE & &/PartNo iR E = /Screw
= #2:100A Yoo ! Mounting Hole PB-T100A03 %L /NO
i 4 Printed Board: t1.6 - - MBX10L/ A > F E 24
Rating ij PB-T100A03-S y16x10L Binding Head Screw Attached

12+0.1

filif € R A B L7 13.0N+m

o - ‘ Clamping Torque For Connection Screw:3.0N + m
< : = <> e*a <
Lv‘a ! g {£ 4%/ Specifications
. | 4 [ =% E i WE | 9% e
‘ ~ Part No Part Name Material Size Treatment
| | R im T # 4 R RARXAyFx

6‘9 o= ! Printed Board Terminal| Brass R t=1.2 Tin-Plated
i 3—4.140.1 i e 2 4R ZYT VA E
Y 2 gcrew Brass M6X1X10L Nickel-plated
EEEE B b 5 = - =y Ay
s Nut Brass R t=3.0 Nickel-plated

X7 LR,

B2 5 2 THENTO—HAE LT AT

TIO—EFKkAE



	76
	77
	78
	79
	80
	81
	82
	83
	84
	85
	86

